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https://www.youtube.com/watch?v=LsK-xG1cLYA&t=378s
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AdaBoost.... _T_
To review, the three ideas behind AdaBoost are... l
=

3) Each stump is made by taking

the previous stump’s mistakes
© Into a * AdaBoost, Clearly Explained
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Chest Blocked Patient Heart Sample
Pain  Arteries Weight Disease Weight

Yes Yes 205 Yes 1/8
No Yes 180 Yes 1/8
Yes No 210 Yes 1/8
Yes Yes 167 Yes 1/8
No Yes 156 No 1/8
No Yes 125 No 1/8
Yes No 168 No 1/8
Yes Yes | 172 No 1/8
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Weight > 176

Yes Heart Disease No Heart Disease

Correct Incorrect Correct Incorrect

3 0 4




GH\‘. TNUJ)O
m. o
Tpy= \- = Pe ol
k=

sinlloy Ay ndew, Letrer ')ml)uu(hi,]l

@ we sk o~ O )

thy one Qs it
hao 4he cmallest

5 hen we o Ko
YOI AL A

N WQ:\%MS

@))(\(\LV‘ we colonlade (Z}‘m’« 1d0 for eacln of

Frg

Gini Index
e

K.

;,95

Gini Index

Weight > 176

dini Index
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Weight > 176

Yes Heart Disease No Heart Disease

Correct Incorrect

3 0 - 1

Correct Incorrect

And when a stump does a
terrible job and the
Total Error is close to 1...

/ Amount of Say - % log(1 ZTotal Errory

Total Error

Yes Heart Disease No Heart Disease
Correct Incorrect Correct Incorrect
3 0 4 1
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V%
New Sample _ sample Weigh@nount of say

0.2 04 06
Total Error

Weight
i decy@ 5L

New Sample :
= sample weight x
| Weight P ¢

-amount of say



Chest Blocked Patient Heart Sample New
Pain Arteries Weight Disease Weight Weight

0.05 0.07
0.05 0.07
0.05 0.07
0.49
0.05 0.07

0.05 0.07

0.05 0.07

0.05 0.07

Chest Blocked Patient Heart
Pain Arteries Weight Disease

Q}V(‘ Yes Yes 167 Yes

0 Y\QX (/4 C b@/‘/v‘/ No Yes 125 No
\I‘)l v\/\\o @’( Yes Yes 167 Yes

@ ’\'\I\QV\ O\Q\I\/\ .(\L} Yes Yes 167 Yes

’\( (/‘(\ Yes Yes 172 No
Yes ’ Yes | 205 \ Yes |
Yes ‘ Ys 167 Yes ‘
Chest Blocked Patient Heart Chest Blocked Patient Heart Chest Blocked Patien
Pain Aftefies Welght Disease Pain Arteries Weight Disease Weight Pain Arteries Weigh
0.07
Yes  Yes 205  Yes 0.07 )l
0.07 | Yes No 210 Yes 0.07 |21\
’ 049 ...and if the number is
between 0.14 and 0.21
0.07 0.07 (0.14 + 0.07 = 0.21), then we

would put this sample into the
new collection of samples...

0.07

Yes Yes 172 No 0.07 oo ok \



o\ccm{dllv\ vo animbey oo f~ WOk YanfrR, ns c.ok
c,\)\(\és};ohdiwk iy 4 e new  ealllotian

Chest Blocked Patient Heart Sample Chest Blocked Patient Heart
Pain Arteries Weight Disease | Weight Pain Arteries Weight Disease
Lj No Yes 156 No
Yes Yes 167 Yes
No Yes 125 No
Yes Yes 167 Yes Yes Yes 167 Yes
\ Yes Yes 167 Yes
Ultimately, this sample was Yes Yes 172 No
added to the new collection
. Yes Yes 205 Yes
of samples 4 times,
Yes Yes - reflecting its larger Sample Yes  Yes 167 Yes

Weight.
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Chest Blocked Patient Heart Sample
Pain Arteries Weight Disease | Weight

No Yes 156 No 1/8
Yes Yes 167 Yes 1/8
No Yes 125 No 1/8
Yes Yes 167 Yes 1/8
Yes Yes 167 Yes 1/8
Yes Yes 172 No 1/8

Yes Yes 205 Yes | 1/8

Yes Yes 167 Yes 1/8
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Ultimately, the patient is classified

as Has Heart Dise cause
this is the l@rger sum.
&«

Has Heart Disease Total = 2.7 Total = 1.23

#viount ot Sey

—_ 0097 Amount of S
0.41 €— 22

0.82 «— R

Does Not Have
Heart Disease

—> 0.78

-~
2 —_— 0.32
P
~

—> 0.63

- 3) Each stump is made by takinc
LU”‘ 57&9% é\#W\V\’\O‘Y‘} . the previous stump’s mistakes

into account.

1) AdaBoost combines a lot of
“weak learners” to make
classifications. The weak learners
are almost aways stumps.

2) Some stumps get more say in
the classification than others.
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